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IEES [ o8 | T@E&AF [BKEIE [ W-FFES [ 08 | J—FEFH [EHA CO H=400 $20
JE ] ] s 5= AL o#m s & ®H K
EiEsa 1 [&E = (B3R + RV ER + BUER + WEEER) + (GETRANE - SmmalE X MEFmEsrE)) X gk
16.000 m = ((8.000 + 0.000 + 0.000 + 0.000) + ((0.000 ~ 0.550) * 0.000)) * 2.000
EES L] 1 B = (R - TmiE) X 24 X fFIER) + (FliE X 24 X (ETiER + RIEER + SRER + fEIER))
0.880 m3 = ((0.000 — 0.550) * 0.200 * 0.000) + (0.550 * 0.200 * (8.000 + 0.000 + 0.000 + 0.000))
I 1 [@skh = FaE X BEA X (ETHER + KRER + AER + MEER)
0.968 m3 = 0.550 * 0.220 * (8.000 + 0.000 + 0.000 + 0.000)
HhZLiE 10 1 B = (R - TmiE) X 24 X fFIER) + (FliE X 24 X (ETiER + RIEIER + SRER + fMEIER))
0.440 m3 = ((0.000 — 0.550) * 0.100 * 0.000) + (0.550 * 0.100 * (8.000 + 0.000 + 0.000 + 0.000))
AR 1 [&E = (REFiE - EmiE) X FER) + Ghal X (TR + fRiER + SHEE + MEER))
4.400 m2 = ((0.000 - 0.550) * 0.000) + (0.550 * (8.000 + 0.000 + 0.000 + 0.000))
TRHIRD R L 1 B = (R - TmiE) X 24 X fFIER) + (Bl X 24 X (ETiER + RIEIER + SRER + fMEIER))
0.748 m3 = ((0.000 — 0.550) * 0.170 * 0.000) + (0.550 * 0.170 * (8.000 + 0.000 + 0.000 + 0.000))
i R I ] 1 [ = SEmEIEE e LR

(il A i)

0.880 m3 = 0.880

R ]

1 |#o = JEIE e L

(A1)

1
=
©
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0. 968 m3
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T I % B2 &t EF &8 (& B X )
RETEEEES . 06002800[ L#NRETE]
IEES [ o8 | T@E&AF [BKEIE [ W-FFES [ 09 [ J—FEFH [EHEA CO H=400 $13
JETER I JE #O0% Lo om0 i H K
ShaEmr 1 | = ((ETER + RV ER + ER + BEER) + (GEFHEAE - S@amalE) X fEFREETTE)) X UllrEE
3.000 m = ((1.500 + 0.000 + 0.000 + 0.000) + ((0.000 - 0.550) * 0.000)) * 2.000
AlZEHRH] 1 [Boim = (GEFIE - SiliE) X JBEA X fFHER) + GR@ig X B2 X (ETER + KIBEE + TR + BEER))
0.165 m3 = ((0.000 - 0.550) * 0.200 * 0.000) + (0.550 * 0.200 * (1.500 + 0.000 + 0.000 + 0.000))
e 1 |Edsch = g X JB2A X (ELER + RIBER + RLEE + MELER)
0.173 m3 = 0.550 * 0.210 * (1.500 + 0.000 + 0.000 + 0.000)
LR 1 [Bom = (GEFIE - EiliE) X JBEA X fFHER) + GR@lg X B2 X (ETER + KIBEE + TR + MEER))
0.082 m3 = ((0.000 — 0.550) * 0.100 * 0.000) + (0.550 * 0.100 * (1.500 + 0.000 + 0.000 + 0.000))
FEARTE IH 1 o = (TR - Fmihs) X EFER) + (Fdle X (ETER + RIELER + WEER + MELR))
0.825 m2 = ((0.000 - 0.550) * 0.000) + (0.550 * (1.500 + 0.000 + 0.000 + 0.000))
FEHIE DR L 1 [Boim = (GEFIE - EiliE) X JBEA X fFHER) + GR@lg X B2 X (ETER + KIBEE + RUER + MEER))
0.132 m3 = ((0.000 - 0.550) * 0.160 * 0.000) + (0.550 * 0.160 * (1.500 + 0.000 + 0.000 + 0.000))
5E ALy e 1 (B = SlEEAR IS e

(il A i)

0.165 m3 = 0. 165

R ]

Bk = HEIE U bR

(A1)

1
=
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w

0.173 m3
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7] 1 | Edch = g X 24 X (ELER + RIBER + RLEE + MEER)
3.253 m3 = 0.550 * 0.510 * (11.600 + 0.000 + 0.000 + 0.000)
A 2 [MiEicE = IR X B4 X (ETHER + RAVER + WHER + MESER)
0.638 m3 = 0.550 * 0.100 * (11.600 + 0.000 + 0.000 + 0.000)
FEARTE IH 1 o = (TR - Fmihe) X RFRER) + Fdle X (ETER + RIELER + WIER + MELR))
6.380 m2 = ((0.000 - 0.550) * 0.000) + (0.550 * (11.600 + 0.000 + 0.000 + 0.000))
HEHIE DR L 1 [Bom = (GEFIE - EiliE) X JBEA X fFHER) + GR@lg X B2 X (ETER + KIBEE + TR + MEER))
3.253 m3 = ((0.000 - 0.550) * 0.510 * 0.000) + (0.550 * 0.510 * (11.600 + 0.000 + 0.000 + 0.000))
5E ALy 2 [EE = WHIE2kE
() 0.638 m3 = 0.638
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REEEEES . 06002800 [ L #)REHE]

IEES [ o8 | T@E&AF [fekEISE [ V-FFES [ 12 [ JW—FE%H [EHA CO H=1000

ErER | & i " L o#m i H K

ShaEmr 1 | = ((ETER + RV ER + ER + BEER) + (GEFHEAE - S@amalE) X fEFREETTE)) X UllrEE
2.000 m = ((1.000 + 0.000 + 0.000 + 0.000) + ((0.000 - 1.000) * 0.000)) * 2.000

AlZEHRH] 1 [Boim = (GEFIE - SiliE) X JBEA X fFHER) + GR@ig X B2 X (ETER + KIBEE + TR + BEER))
0.200 m3 = ((0.000 - 1.000) * 0.200 * 0.000) + (1.000 * 0.200 * (1.000 + 0.000 + 0.000 + 0.000))

e 1 |Edsch = g X JB2A X (ELER + RIBER + RLEE + MELER)
0.550 m3 = 1.000 * 0.550 * (1.000 + 0.000 + 0.000 + 0.000)
A 2 [MiEicE = EEIE X A X (ETHER + RAVER + RHER + fESER)

0.250 m3 = 1.000 * 0.250 * (1.000 + 0.000 + 0.000 + 0.000)

EEATE 1 | = (TR - FlihE) X JES X MEFER) + GRllg X 25 X (ELER + RIBER + RLEE + MELER))
0.100 m3 = ((0.000 - 1.000) * 0.100 * 0.000) + (1.000 * 0.100 * (1.000 + 0.000 + 0.000 + 0.000))

FEARTE IH I [HBow = (GEFIE - SimiE) X fEFER) + (F@E X (LTER + KRiEER + RiEER + MEER))
1.000 m2 = ((0.000 — 1.000) * 0.000) + (1.000 * (1.000 + 0.000 + 0.000 + 0.000))

RO R L 1 o = (TR - FlihE) X JBES X MEFHER) + GRllg X 25 X (ELER + RIEER + RLEE + MELER))
0.250 m3 = ((0.000 - 1.000) * 0.250 * 0.000) + (1.000 * 0.250 * (1.000 + 0.000 + 0.000 + 0.000))
FEHIE DR L 2 |HoE = (GiEFFiE - TdEie) X JBa X fFER) + (FalE X B X (LTER + Ktk + BTk + MEER))

0.500 m3 = ((0.000 - 1.000) * 0.500 * 0.000) + (1.000 * 0.500 * (1.000 + 0.000 + 0.000 + 0.000))
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(HEERm A 0.200 m3 = 0.200
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REEEEES 06002800 LFEREE]
| IBES [ 11 [ IT#%%H [ ¢ 50KBRAETE [ W=FFES T of | I—FEFF [iE $50FE
JE TR =] i " L o#m i H K
e o) I [Bow = (EIER + RV ER + WER + MZER) + (REFRAE - S@iiig) X MFRETE0) X BIrER
2.000 m = ((1.000 + 0.000 + 0.000 + 0.000) + ((0.000 - 1.000) * 0.000)) * 2.000
(B 1 [Bow = (GEFIE - SimiE) X fEFER) + (F@E X (LTER + KiEER + REER + MEER))
1.000 m2 = ((0.000 — 1.000) * 0.000) + (1.000 * (1.000 + 0.000 + 0.000 + 0.000))
A 1 [rmfos = FillE X J2EA X (RTER + RIER + BTk + MEER)
0.730 m3 = 1.000 * 0.730 % (1.000 + 0.000 + 0.000 + 0.000)
A 2 @ = (((Fa@E X B - Fmei) X (DTIER + fEER)) + (FElE X B2 X (RIEER + REER))
0.721 m3 = (((1.000 * 0.730) - 0.009) * (1.000 + 0.000)) + (1.000 * 0.730 * (0.000 + 0.000))
EREEE 1 [Bowm = (GEFIE - SimiE) X fEFER) + (Fd@iE X (LTER + RIEER + REER + MEER))
1.000 m2 = ((0.000 - 1.000) * 0.000) + (1.000 * (1.000 + 0.000 + 0.000 + 0.000))
AR IH I [HBow = (GEFIE - SimiE) X fEFER) + (F@E X (LTER + KRiEER + RiEER + MEER))
1.000 m2 = ((0.000 — 1.000) * 0.000) + (1.000 * (1.000 + 0.000 + 0.000 + 0.000))
PEARTE IH 2 o = (Gl - Tdie) X EFER) + (FElE X (ZTER + KRIBER + TR + BEER))
1.000 m2 = ((0.000 - 1.000) * 0.000) + (1.000 * (1.000 + 0.000 + 0.000 + 0.000))
AL B L I [Bom = (GEFIE - SiliE) X JBEA X fFHIER) + GR@lg X B2 X (ETER + KRIBER + TR + MEER))

0.730 m3 = ((0.000 - 1.000) * 0.730 * 0.000) + (1.000 * 0.730 * (1.000 + 0.000 + 0.000 + 0.000))
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AR L 2 o = (Gl - TEig) X B X EFER) + (Gl X JB42) - Fmf) X LTER) + (FlE X JBh X (RIBER + TR + BEER))
0.501 m3 = ((0.000 - 1.000) * 0.510 * 0.000) + (((1.000 * 0.510) — 0.009) * 1.000) + (1.000 * 0.510 * (0.000 + 0.000 + 0.000))
P ER U] 1 [EhEimrIEoE = (HEFIE - SEiE) X B X fEFHER) + (FlE X Bl X (RTER + KRIEE + 3T + BEER))
(€ E ST 0.050 m3 = ((0.000 - 1.000) * 0.050 * 0.000) + (1.000 * 0.050 * (1.000 + 0.000 + 0.000 + 0.000))
GRSy 1 (B = Shdeidl s Ue Liw
CSEFR TN 0.050 m3 = 0. 050
GRSy 1 (B = WHIE S L=
(A1) 0.730 m3 = 0.730
FE Ay 2 B = fEEE2kE L
GRAN 0.721 m3 = 0.721
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REEEEES . 06002800 [ L #)REHE]
| IEES EREEEEES [#50KERAET S [ W=FFES [ 02 | L—F&E#H [MmE BOXHEZE

ErEs | e i " L o#m i H K

ShaEmwr 1 | = ((ETER + RV ER + ER + BEER) + (GEFHEAE - S@amalE) X fEFREETTE)) X UllrEE
2.000 m = ((1.000 + 0.000 + 0.000 + 0.000) + ((0.000 - 1.000) * 0.000)) * 2.000

(B 1 [Bow = (GEFIE - SimiE) X fEFER) + (F@E X (LTER + KiEER + REER + MEER))
1.000 m2 = ((0.000 — 1.000) * 0.000) + (1.000 * (1.000 + 0.000 + 0.000 + 0.000))

e 1 |Edsch = g X JB2A X (ELER + RIBER + RLEE + MELER)

0.730 m3 = 1.000 * 0.730 * (1.000 + 0.000 + 0.000 + 0.000)

LR 1 [Bow = (GEFIE - SimiE) X fEFER) + (F@E X (LDER + KiEER + REER + MEER))
1.000 m2 = ((0.000 — 1.000) * 0.000) + (1.000 * (1.000 + 0.000 + 0.000 + 0.000))

FEARTE IH 1 o = (TR - Fmihs) X EFER) + (Fdle X (ETER + RIELER + WEER + MELR))
1.000 m2 = ((0.000 - 1.000) * 0.000) + (1.000 * (1.000 + 0.000 + 0.000 + 0.000))

FEARTE IH 2 |HoE = (Gl - TEig) X MEFIER) + (FEilE X (ETER + KRIBER + TR + BEER))
1.000 m2 = ((0.000 — 1.000) * 0.000) + (1.000 * (1.000 + 0.000 + 0.000 + 0.000))

RO R L 2 [EE = (TR - SliE) X JBEA X FHER) + (FilE X Eh X (ETER + RIELER + LR + MELR))

0.510 m3 = ((0.000 - 1.000) * 0.510 * 0.000) + (1.000 * 0.510 * (1.000 + 0.000 + 0.000 + 0.000))

GRSy 1 [EhEEimrIEoE = (EFIE - SaiE) X JBER X EFHER) + (FlE X Bl X (RTER + KRIEE + 3T + BEER))

[CEEET) 0.050 m3 = ((0.000 - 1.000) * 0.050 * 0.000) + (1.000 * 0.050 * (1.000 + 0.000 + 0.000 + 0.000))
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100. 000 m2 = 100. 000 - 0. 000
EEESAE T |l - AEREE R
100. 000 m2 = 100. 000 - 0. 000
5 ALy e 1 |WEH A = ORE IR - APRIRmR) X B2

(il i)

7.000 m3 = (100.000 - 0.000) * 0.070

R ]

(A H)

7.000 m3 = 7.000
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BIEEEES . 06002800[ LBk E]
TAES | 12 | TAEh  [HEFEELIE [ —r&= [ 0@ | - ra% [ZoBTE AN 558
TR T F®E R W 7 ¥ B X
R T |Bk - AR s A

8.000 m2 = 8.000 - 0.000

SRR 1 B = AMEEEE - A
8.000 m2 = 8.000 — 0.000
5 ALy e 1 |WEH A = ORE IR - APRIRmR) X B2
[EEZ ) 0.560 m3 = (8.000 - 0.000) * 0.070
GRSy 1 |Ho = SIS e T
(Bl 2= F)) 0.560 m3 = 0.560
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REEEEES . 06002800 [ L #)REHE]
| IHEES | 138 | T#4&#% [$100kEXRETE [ W—FES [ o | I—tEHm [RE KEEUFT
ErEs | e i " L o#m i H K
ShaEmr 1 | = ((ETER + RV ER + ER + BEER) + (GEFHEAE - S@amalE) X fEFREETTE)) X UllrEE
6.000 m = ((3.000 + 0.000 + 0.000 + 0.000) + ((0.000 - 1.500) * 0.000)) * 2.000
AlZEHRH] 1 [Bow = (GEFIE - SimiE) X fEFER) + (F@E X (LTER + KiEER + REER + MEER))
4.500 m2 = ((0.000 — 1.500) * 0.000) + (1.500 * (3.000 + 0.000 + 0.000 + 0.000))
e 1 [rmfos = ((GRmlg X 842 - Fmi) X (EIER + fEER)) + (Fd@iE X JER X (REER + RIEITER))
4.332 m3 = (((1.500 * 0.970) - 0.011) * (3.000 + 0.000)) + (1.500 * 0.970 * (0.000 + 0.000))
A 2 [MiEicE = EEIE X A X (ETHER + RAVER + RHER + fESER)
3.510 m3 = 1.500 * 0.780 * (3.000 + 0.000 + 0.000 + 0.000)
EEATE 1 o = (TR - Fmihs) X EFER) + (Fdle X (ETER + RIELER + WEER + MELR))
4.500 m2 = ((0.000 - 1.500) * 0.000) + (1.500 * (3.000 + 0.000 + 0.000 + 0.000))
HEEE IR 2 |HoE = (Gl - TEig) X MEFIER) + (FEilE X (ETER + KRIBER + TR + BEER))
4.500 m2 = ((0.000 — 1.500) * 0.000) + (1.500 * (3.000 + 0.000 + 0.000 + 0.000))
PEARTE IH 1 o = (R - Fmihe) X EFER) + (Fde X (ETER + RIELER + WER + MELR))
4.500 m2 = ((0.000 - 1.500) * 0.000) + (1.500 * (3.000 + 0.000 + 0.000 + 0.000))
FEARTE IH 2 o = (Gl - TdiE) X MEFIER) + (FElE X (ETER + KRIBER + TR + BEER))
4.500 m2 = ((0.000 — 1.500) * 0.000) + (1.500 * (3.000 + 0.000 + 0.000 + 0.000))
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IEES 13 | ITREW [@100KEXFETE [ W-FES [ ol [ W—F&%H [BEKEEYTD
ErEs | e i " L o#m i H K
FEARTE IH 3 [HE = (kTR - SimiE) X fEFHER) + (F@E X (ELER + RIELEE + TR + MEER))
4.500 m2 = ((0.000 - 1.500) * 0.000) + (I.500 * (3.000 + 0.000 + 0.000 + 0.000))
FEHIE DR L I [Bow = (GEFIE - SlibE) X JBEA X fFHER) + GR@lg X B2 X (ETER + KIBEE + TR + MEER))
3.510 m3 = ((0.000 - 1.500) * 0.780 * 0.000) + (1.500 * 0.780 * (3.000 + 0.000 + 0.000 + 0.000))
IO R L 2 o = (GiEFiE - TEig) X B4 X EFER) + (Gl X JB4) - Fmf) X LTER) + (FlE X JBh X (RIBER + TR + BEER))
2.307 m3 = ((0.000 - 1.500) * 0.520 * 0.000) + (((1.500 * 0.520) - 0.011) * 3.000) + (1.500 * 0.520 * (0.000 + 0.000 + 0.000))
GRSy 1 [ShEimdIEoE = (EFIE - SaiE) X JBER X EFHER) + (FlE X Bl X (RTER + KRIEE + 3T + BEER))
(Bl 2= 1)) 0.450 m3 = ((0.000 - 1.500) * 0.100 * 0.000) + (1.500 * 0.100 * (3.000 + 0.000 + 0.000 + 0.000))
5E ALy 1 (B = ElEEAR IS e
i A1) 0.450 m3 = 0.450
GRSy 1 (B = WHIE S L=
() 4.332 m3 = 4.332
5E ALy e 2 [EE = WHIE2kE
() 3.510 m3 = 3.510
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T I % B2 &t EF &8 (& B X )
REEEEES . 06002800 [ L #)REHE]
| IHEES | 138 | T#4&#% [$100kEXRETE [ W=—FES | 02 | I-t&%H [mE KEEUTTF

ErEs | e i " L o#m i H K

ShaEmr 1 | = ((ETER + RV ER + ER + BEER) + (GEFHEAE - S@amalE) X fEFREETTE)) X UllrEE
4.000 m = ((2.000 + 0.000 + 0.000 + 0.000) + ((0.000 - 1.500) * 0.000)) * 2.000

AlZEHRH] 1 [Bow = (GEFIE - SimiE) X fEFER) + (F@E X (LTER + KiEER + REER + MEER))
3.000 m2 = ((0.000 - 1.500) * 0.000) + (1.500 * (2.000 + 0.000 + 0.000 + 0.000))

e 1 |Edsch = g X JB2A X (ELER + RIBER + RLEE + MELER)
2.220 m3 = 1.500 * 0.740 * (2.000 + 0.000 + 0.000 + 0.000)
e 2 @ = (((Fa@E X B - Fmei) X (DTIER + fEER)) + (FElE X B2 X (RIEER + REER))

3.158 m3 = (((1.500 * 1.060) - 0.011) * (2.000 + 0.000)) + (1.500 * 1.060 * (0.000 + 0.000))

EEATE 1 o = (TR - Fmihs) X EFER) + (Fdle X (ETER + RIELER + WEER + MELR))
3.000 m2 = ((0.000 - 1.500) * 0.000) + (1.500 * (2.000 + 0.000 + 0.000 + 0.000))

FEARTE IH I [HBow = (GEFIE - SimiE) X fEFER) + (F@E X (LTER + KRiEER + RiEER + MEER))
3.000 m2 = ((0.000 - 1.500) * 0.000) + (1.500 * (2.000 + 0.000 + 0.000 + 0.000))

PEARTE IH 2[R = (kTR - SmiE) X fEFHER) + (F@E X (ELER + RIELEE + RIER + MEER))
3.000 m2 = ((0.000 - 1.500) * 0.000) + (1.500 * (2.000 + 0.000 + 0.000 + 0.000))

FEHIE DR L I [Bom = (GEFIE - SiliE) X JBEA X fFHIER) + GR@lg X B2 X (ETER + KRIBER + TR + MEER))

3.180 m3 = ((0.000 - 1.500) * 1.060 * 0.000) + (1.500 * 1.060 * (2.000 + 0.000 + 0.000 + 0.000))
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REEEEES 06002800 LFEREE]
IEES [ 13 [ T@%%H [@100KEXFETE [ \-rFEE [ 02 | I—tEH [FE KEEUTHT
JE TR =] H T - -
AR L 2 o = (Gl - TEig) X B X EFER) + (Gl X JB42) - Fmf) X LTER) + (FlE X JBh X (RIBER + TR + BEER))
1.538 m3 = ((0.000 - 1.500) * 0.520 * 0.000) + (((1.500 * 0.520) - 0.011) * 2.000) + (1.500 * 0.520 * (0.000 + 0.000 + 0.000))
P ER U] 1 [EhEimrIEoE = (HEFIE - SEiE) X B X fEFHER) + (FlE X Bl X (RTER + KRIEE + 3T + BEER))
(€ E ST 0.150 m3 = ((0.000 - 1.500) * 0.050 * 0.000) + (1.500 * 0.050 * (2.000 + 0.000 + 0.000 + 0.000))
GRSy 1 (B = Shdeidl s Ue Liw
CSEFR TN 0.150 m3 = 0. 150
GRSy 1 (B = WHIE S L=
() 2.220 m3 = 2.220
FE Ay 2 B = fEEE2kE L
GRAN 3.158 m3 = 3. 158
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